IMPERFECT TENSE: all verbs
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Tl:J IR

TU LEER

TOVIVIR

TU BORRAR

NOSOTROS IR

USTED VIVIR

USTED COMER
USTEDES LEER

TU ESCRIBIR
NOSOTROS VER
NOSOTROS LEER
USTEDES COMER
TU DIVERTIRSE
USTEDES LLEVAR
VOSOTROS COMER
VOSOTROS LLEVAR
NOSOTROS ASISTIR
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TU VER

USTED VER

TU COMER
USTEDES IR
VOSOTROS IR
USTEDES VER
USTED CORRER
USTED LLEVAR
USTED BORRAR
TU APRENDER
USTED ASISTIR
NOSOTROS COMER
NOSOTROS VIVIR
NOSOTROS MIRAR
VOSOTROS VIVIR
USTEDES ASISTIR
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VOSOTROS APRENDER
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USTED IR

TU MIRAR

USTED LEER

TU CORRER

TU ASISTIR

USTED MIRAR
USTED MONTAR
VOSOTROS VER
USTED HABLAR
USTEDES VIVIR
VOSOTROS LEER
USTED APRENDER
USTEDES BORRAR
USTEDES CORRER
VOSOTROS MIRAR
NOSOTROS MONTAR
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